EARAROBEEIERT — 2 N— IBISH —F

2015564290 (B) 6EI%H#1H

mf':'l%f.?é‘ B2 #5%—#H (xwlw | lmEmml - |5 5) wom 8
[A&4]1#%:165000 M ~ 2#%&:33,000MH ~ 3#&:17,000H / 4%:0M / 5&:0HM
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= S i 6 | BlETIH 1:28.3 2-2-2-1 |37.7| — 2 449 | NEREEER (55HR)
118l 9| TRTAT477 54.0 = () IRLTASF
QAT A BiFAIFhA Y I
=+ . -
sl1l1lVvrss%F % 4 | pHES ) 4-4-3-3 |37.3| — | 1 | 476 Eg;m (&242)
AL T7AT7 BTATAHTS © TR BER
H : FIEXeA) it 5 5@5?%2 1:29.0 1-1-1-1 [ 38.6 | — 7 | 470 /Jé)ﬁ%ﬁgl\g)ﬁbm){_ .
: 3 IRLTATUR
LHALY RF = Bival— KL g o RE: T
4|5|5 | AXETLH— 5 | el e 5045 85| — | 4 | a3 | EHEA (B
RRFAT—IE BT LFTI-X 2 | Bakwms
N BEXZERTE E: #H 5 gﬁﬁ%%f? (11:219/.25) 7-7-6-5 | 37.7| — 8 447 gggﬁ (%#2)
L:TA=—TAFAF =YL B:XE2-1)—-7)Y © FRE%S
Y 2 MES PSS AR N5 1(:12/92.)6 3-54-4 [38.5| — | 3 | 455 l?fé%% (1)
R:FFHRTFTd B:xIX5Y (=1 N H LS
iy K K — 4 5 | KERES 1:29.9 6-6-7-7 | 38.4| — 6 426 | AR (5542)
71717 Jy FXE [y 54.0 (11/2) +1) ngExE
RTFIRRERFL BTy KALF—7T B
o|afo] 175 ar celee | [l [ s e
R:YsH—> BSLAHLZI WA7 7 — 4
9 6| A—LILTLAX H 6 ?67!5&2 (19342;) 8-8-8-9 [39.6| — | 5 | 530 ggﬁﬁ (%12)
RiO—UXALAL BikvE55 b M0 | nsiigss
® I—F—@EBIERL
13—4— 3,9,4,1,5,7,2,6,8
Ao=5"= 3,9,5,1,4,7,2,6,8
J=7r= 3,9,1,(4,5),2,7,6,8
40 —F— (3,9),1,4,(2,5),7,8,6
[ RN
-y 9 4108 | | 71 K 1-9 140 | | # &= 1-8 210M | | 3EfE 1-3-9 1,370
# B 9 140M 3-9 930F B E 1-9 180 EE 9-1-3 5,290/
1 130M 1-3 660 BB 9-1 640M
3 460/

ABICOVWTRDTEEERROODE. TR LIV,




